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1. George has a $600 annua entertainment budget that he uses to buy trips to the

movies and dinners at local restaurants. The figure above shows indifference curves
and budget lines for these two goods. The price of amovie is $15. (10 4")
(1) Along budget line BL1, what isthe price of adinner?
(2) What combination of dinners and movies will George select along budget line
BL1?
(3) Budget line BL2 represents a change in the price of dinners from that along
BL1. What isthe new price of dinners along this budget line?
(4) What combination of dinners and movies will George select along budget line
BL2?
(5) Use the information in this problem to give two points on George's demand
curve for dinners,



L abor Total product
(workers) (shirts per day)

0 0

1 20

2 36

3 48

4 56

5 60

2. The table above shows Randy's Shirts' short-run production function. Randy hires
workers at awage rate of $50 a day and his total fixed cost is $100. (104")
(1) What isthe marginal product of the 3rd worker?
(2) What is Randy's average fixed cost if 48 shirts are produced?
(3) What is Randy's average variable cost if 56 shirts are produced?
(4) What is Randy's marginal cost of producing the 52nd sweater
(5) What is Randy's average total cost if 48 sweaters are produced?
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3. Does the figure above illustrate a recessionary or an inflationary gap? What do
potential GDP and real GDP equa? What is an appropriate fiscal policy to
restore real GDPto potential real GDP? (15 %)

4. Explain how the Fed's response to a recession works its through the economy to
ultimately affecting real GDP and the price level. (15 4)



